FEX FEREARER o TRIHSH % OB LB D VRk234E 8A 1 HEE

LI I I U % % at LI N L ¢ % % it o7 4 K % % at
W11 H 247 209 283 492 |0 LHT 268 238 246 484 |F 1T H 1,519 1,132 1,248 2,380
27T H 208 178 186 364 | - EsHT 345 299 335 634 |FHL2T H 3,291 2,420 3,438 5,858
3T H 253 190 223 413 | 5T 42 43 47 90 [FIU3T H 495 444 413 857
47T H 1,824 1,475 1,441 2,916 [HAFR] 85 70 46 116 [& /AR 2,716 2,310 2,328 4,638
AKHE T 216 182 201 383 | ALEFMT 833 723 812 1,535 |G ARBT1IT H 2,222 1,849 1,136 2,985
—oRET 829 696 825 1,521 |75 FfFHT 696 601 646 1,247 |5 ART2T H 2,130 1,696 1,380 3,076
Hemy 1,253 912 1,010 1,922 |JR4ochT 227 201 221 422 |AART3T H 2,491 2,528 2,852 5,380
HELITH 1,185 1,070 1,129 2,199 |FAtEHT 639 597 673 1,270 |5 ART4 T H 1,480 1,058 1,433 2,491
HE2TH 415 337 374 711 |4%HT 348 292 332 624 | RARLIT H 1,706 1,383 1,099 2,482
HYESTH 609 488 551 1,039 #5750 347 314 346 660 | RKAR2T H 3,674 2,928 2,655 5,583
ZEU) 714 599 620 1,219 |7 286 259 302 561 | RAPR3T H 1,613 1,632 1,844 3,476
st el il 880 611 778 1,389 |dEmT 490 419 468 887 [F&EHT1T H 97 74 87 161
S =mT 593 389 579 968 |#HFHT 494 426 473 899 |FEHARH 1T H 2,833 2,268 2,400 4,668
FA JCHT 1,023 886 987 1,873 |F [LARET 347 301 299 600 |PEHARH2 T H 2,774 2,288 2,190 4,478
SEAHT 1,355 981 1,019 2,000 [dEILERET 240 177 215 392 | FARHE3T H 3,316 3,118 2,899 6,017
JiHHT 854 570 665 1,235 |E$RMT 724 603 709 1,312 |mHES1 T H 2,190 1,836 1,683 3,519
LM 730 542 625 1,167 | F'& bely 107 74 86 160 |mHES2 T H 960 776 748 1,524
RHCHT 1,740 1,351 1,571 2,922 |5 kHT 2,175 1,905 2,173 4,078 |mHESH3 T H 3,253 2,624 2,278 4,902
& EHT 250 174 249 423 |3 HT 480 417 460 877 |mHESH4AT H 3,080 2,615 2,429 5,044
PN T 454 412 484 896 |& FHT 272 182 225 407 | FHA1TH 1,248 932 889 1,821
Ll 238 184 178 362 T 229 214 247 461 | F¥%52T H 1,530 1,411 1,480 2,891
el T H 2,450 1,771 1,680 3,451 |EEHT 412 270 329 599 | F%&3TH 2,222 1,829 2,222 4,051
#HE2T A 803 645 494 1,139 [#=FmT 524 405 419 824 | F¥54 T H 2,155 1,863 2,088 3,951
#HE3TH 131 119 72 191 |50 4 )\ iy 571 382 532 914 |"M#A1TH 1,841 1,505 1,550 3,055
Hrg4 T H 235 212 94 306 [#r/INITET 1,582 1,328 1,455 2,783 | EA2TH 2,251 1,915 2,045 3,960
#HEs T H 1,608 1,245 901 2,146 [#hEn] 0 0 0 0 |53 TH 2,012 1,861 1,919 3,780
6T H 1,962 1,525 1,314 2,839 | E ST 1,627 1,283 1,335 2,618 |F%G4T H 1,501 1,427 1,383 2,810
BHE7 T H 3,310 2,831 2,544 5,375 |HigHnmy 788 558 597 1,155 [ E&A1TH 2,845 2,424 2,370 4,794
HEEITIT R 208 169 79 248 | i fhz By 992 848 959 1,807 | E&G2T H 2,825 2,265 2,155 4,420
HEEIT2T R 1,561 1,206 634 1,840 |7R¥k THT 796 632 656 1,288 | E&A3TH 2,827 2,217 2,046 4,263
HAHIT1ITH 19 10 21 31 [RAHHT 586 437 473 910 |FE¥%AS1 T H 2,230 1,950 1,964 3,914
HAaHIT2T H 257 177 263 440 |1HHT 357 301 260 561 |FE& 52T H 2,145 1,941 1,916 3,857
HAaHIT3T H 129 94 115 209 [HAHHT 152 125 117 242 |F%53TH 1,590 1,378 1,529 2,907
THAAATHT 1,648 1,515 876 2,391 | A HET 586 442 477 919 |FE¥%54 T H 1,029 969 1,013 1,982
mis i LIERTT T H 101 98 118 216 |5-fiii FH e T 459 391 436 827 [FH1ITH 1,096 871 740 1,611
mis i LIFRT2 T H 194 139 199 338 |55 THT 274 248 226 474 [FH2T H 1,418 1,315 1,414 2,729
mis i LIFRT3 T H 353 330 388 718 [FET1T H 722 639 641 1,280 |db#rfg1 T H 3,300 2,577 2,334 4,911
A ZEPNHT 224 212 238 450 |JRHAT27T H 591 580 560 1,140 |de#rfg2 T H 2,524 2,290 1,935 4,225
TR 1T | 135 226 233 459 |JRHT3 T H 925 749 840 1,589 |db#rfE3T H 3,583 2,893 2,653 5,546
TR 2T | 670 603 663 1,266 |&=AFEHT 986 910 871 1,781 |de#rfg4 T H 3,315 2,656 2,346 5,002
R 308 261 297 558 |SLHIET 295 261 269 530 |PEHTfE1 T H 45 37 39 76
AR ST 67 58 7 135 |FPKHET 1,614 1,376 1,392 2,768 |PEHTE2 T H 3 3 3 6
A RAESFAT 112 56 110 166 | HLHET 311 295 359 654 |PE#TE3 T H 1,137 788 797 1,585
A EEERT 44 48 46 94 |1LInKHT 1,864 1,426 1,490 2,916 |PEHTE4 T H 4,289 3,308 2,982 6,290
A IERET 239 203 231 434 [ARHT 227 209 160 369 |PEHTE5 T H 2,257 1,723 1,460 3,183
DAV 1) 54 49 59 108 [AKEHT 472 348 369 717 |FEHTE6 T H 1,650 1,300 1,095 2,395
1T H 15 18 19 37 | A AR AT 2,828 2,404 2,309 4,713 |FaHE7 T H 1,446 1,134 883 2,017
AR 2T H 139 100 125 225 |[{E&HMT 1,522 1,134 1,260 2,394 |PFEHES T H 1,549 1,144 1,076 2,220
(L STEINE 292 203 229 432 |hitamy 630 567 564 1,131
4T H 100 91 103 194 i FHHET 1,227 1,022 1,198 2,220
A5 T H 381 320 382 702 |AAAET 2,839 2,286 2,523 4,809
A6 T H 499 368 439 807 |A THT 2,147 1,784 1,882 3,666 =i 172,451 142,238 142,206 284,444




